Discrete Mathematics |
Tutorial 01 - Answer

Refer to Chapter 1.1 and 1.2

1. Letp, g, and r be the propositions
p : You have the flu.
q : You miss the final examination.
r: You pass the course.

Write these propositions using p and q and logical connectives.
a) If you miss the final examination, you will not pass the course

b) You have flu, or miss the final examination, or also pass the course

Express the propositions as an English sentence.

¢) "qer d) pA@Vv(TqAaT)
Answer:
a) q—or
b) pvqvr
C) You do not miss the final examination if and only if you pass the course
d) You have the flu and you miss the final examination or either you do not

miss the final examination and pass the course.
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2. Construct a truth table for each of these compound propositions.

a) p—>q
b) peqAap
) pvg®pnaq

Answer:
a) p—>q
p q —q p—>q
T T F F
T F T T
F T F T
F F T T
b) pogqnap
p q | p<gAp
T T T T
T F F F
F T F T
F F F T
c) pva®pPArq
p q pArq |l pvqg | pv@®(pArgQ
T T T T F
T F F T T
F T F T T
F F F F F
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3. Are the following statements logically equivalent? If yes, show the proof. If no,
provide a counterexample. DO NOT use truth table.
a) (pAq) and p
b) ~(p—~q) and peq
c) (p—>q)—r and p— (q—r1)
d) (pAq) »r and (p—r1) A (g—1)
e) (p—>q)— (r—s) and (p—or1) > (q—s)

Answer:
a) Counterexample:
When p=Tand q=F, paqis falsebutpis T

b) ~ (pe0q)
<  ~lpAg) v (pATg)] by (PAQ) v (=PA=Q)
< ~(pA@) A (TpATQ) by De Morgan’s Laws
<  (pva) A (pva) by De Morgan’s Laws
< [p A (pva@)] v [q A (pva)] by Distributive Laws
= [(pAD) Vv (pAQ)] Vv [(—gAD) V (gAg)] by Distributive Laws
= [F v (—pAqQ)] Vv [(—gAD) Vv F] by Negation Laws
< (pAg) Vv (TgAD) by Domination Laws
& peg by (PAQ) v (=PA—Q)
c) (p—q) —r
= —(—pvq) vr by p—q < —pvq
= (bATQ) VT by De Morgan’s Laws
p— (@—=1)
= —p Vv (Tqvr) by p—q < —pvq
& pVvVTQVr by Associative Laws
& “(pAQ VT by De Morgan’s Laws
Counterexample:

When p=Fandq=T, (p A —q) vrisunknownbut “(p A q)vrisT

d) (pAQ) =1
& —(pAQ) VT by p—>q < —pvq
& pVvVTQVr by De Morgan’s Laws
& ((pv—q)vr
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(p—1) A (1)

= (—pvr) A (—qvr) by p—q < —pvg

& [(—pvr) A—q] Vv [( —pVvr) Ar] by Distributive Laws
= [(pA—q) v (tAr—q)] Vv [(TpAT) V (rAD)] by Distributive Laws
= (pAmq) vV (tATq) vV T by Absorption Laws
— ((pA—g)Vvr by Absorption Laws
Counterexample:

When p=F,q=Tandr=F,(pv—gvrisTbut(—pa—q)vrisF

e) (p—>q) = (—9)
< (pva) = (rvs) by p—q < ~pva
& —(—pvq) Vv (TrVvs) by p—q < —pvg
& (pA—q) Vv (C1Vvs) by De Morgan’s Laws

(p—1) > (@—9)

& (—pvr) = (—qvs) by p—q < —pvg

& —(—pvr) Vv (qVvs) by p—q < —pvg

& (pA™T) Vv (qVs) by De Morgan’s Laws
= [pA (rgqVvs)] Vv (1A (TqVvs)) by Distributive Laws

= (pA™q) V (pAS) Vv ((TATQ) V (TTAS) by Distributive Laws

< (AT Vv (T1As) v (pAs) Vv (TTATg)

Counterexample:

When left hand side does not depend on (pAs) v (-rA—q)
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4. The proposition p NAND q is true when either p or q, or both, are false. NAND is
denoted by p | .
a) Write down the truth table for NAND
b) Show that p | q is logically equivalent to —(p A q)
c) Show thatp|(q|r)and (p|q)|r are not equivalent

Answer:

a)
Pl 9| pla
T| T F
T|F T
F| T T
F|F T

b)
Pl a|pld|pargq| ~(prqg
T| T F T F
T|F T F T
F| T T F T
F|F T F T

c)
p q r plq qlr pl(qlr) | (plg)r
T T T F F T T
T F T T T F F
F T T T F F F
F F T T T T F
T T F F T F F
T F F T F T T
F T F T T T T
F F F T F F T
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5. The following sentence is taken from the specification of a telephone system: "If the
directory database is opened, then the monitor is put in a closed state, if the system is
not in its initial state." This specification is hard to understand because it involves two
conditional statements. Find an equivalent, easier-to-understand specification that
involves disjunctions and negations but not conditional statements.

Answer:

[f the directory database is opened, then the monitor is put in a closed state, if the
system is not in its initial state.

p: directory database is opened
q: monitor is put in a closed state
r: the system is in its initial state.

(pATT) =g
(bAT1)—q
< (bArT)vg by p—=>q < pvg
& pvrvgq by De Morgan’s Laws

The directory database is not opened or
The monitor is put in a closed state or
The system is in its initial state.
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6. Steve would like to determine the relative salaries of three coworkers using two facts.
First, he knows that if Fred is not the highest paid of the three, then Janice is. Second,
he knows that if Janice is not the lowest paid, then Maggie is paid the most. Is it
possible to determine the relative salaries of Fred, Maggie, and Janice from what
Steve knows? If so, who is paid the most and who the least? Explain your reasoning.

Answer:
p: if Fred is not the highest paid of the three, then Janice is
q: if Janice is not the lowest paid, then Maggie is paid the most

Fred Janice Maggie p q
1 3 T F
1 3 2 I I
2 1 3 T F
2 3 1 F T
3 1 2 T F
3 2 1 F T

Fred > Maggie > Janice
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